ooo
p:U—ROO0O00005(t) = (u(t),v(t))0U 000004 =poy

0000000 (MTH.B212) OO

1T
PR ﬁDDDDangkDDDDDDh}=0DDDDDDDD

ooooo
kotaro@math.titech.ac. jp
www.math.titech.ac.jp/~kotaro/class/2020/geom-2/

oooOoOoODODODObODOOD

20210 010 210

2021/01/21 2/ 14

ogd ggd
o d
000 40000000000D0OODOO0O 0000 p(u,v) := (cosusechv,sinusechv,v — tanhv) 000
0000000000000 o0oNoooooonoonm uw?+cosh?v=6¢? 0000000 (¢>1)0000000000

ocoooooooooo

g
00 420 |k /K| = 10

> Q00000000 0O0O0O00000OO0O00OCOOOB0O0ODb

> OJO0000oobOoboooobooboboooboboooobo
goooooo0oooooooooobooo

2021/01/21

goo goog
00 0000 p:U—~R*00000000000000 E F, GO
. . ) D00D0DD0D00D0DDDO0D intrinsic 000000
0 ¢0 4(t) 0 {3(t),ro()} 000000004 00000
000 s00000000000 > oooooo
0ooo > oo
» 00
» Gauss 0O
» 000

2021/01/21 / 2021/01/21

ogooo oooo
» 000 p(u,v) = (sechw cosu,sechvsinu, v —tanhv) (v > 0) (U,ds*)OU = {(&m); n>0}0 ds® = ﬁlz(dgz +dn?)
» 0000000ds? = sech? v du? + tanh2 v do? » GaussO O —1
de? + dn? >
PDDDDD(ﬁ,n):(u,COShU)DdSZZ5—;77(17>1) EEEDfDDDDDDDDDDDDD&DDDDDDD
n
de? + dn?

» Doods? = L2 (5 ) oo

K O00000R30000000000000D. Hilbertd 19010
> K =c2A¢c =-10(ds? = e*(d¢? + dn*))0 0 O 5-200

v

ooooE,n000p>0000¢00000000000

2021/01/21 / 2021/01/21 8/ 14



Gauss-Bonnet 0 O O

> p: U > ROOOOO
> y1(t), (), vs(t) (0=t=1)DU 0000
> (1) = 72(0) = B, 72(1) = 73(0) = C, 13(1) = n(0) = A
» 00000000 AABCOOOOOOO0O
Theorem (Gauss-Bonnet D 0O 0O OO0 OO 10.6)
00 45 =pon; (j=1,2,3) 0000000000

(dA =V EG — F?dudv).

4A+4B+AC:7T+/ KdA
AABC

oo 3-1

4

b b
(00)=cos™' = —cos™t —
a ail

b b
(0D0D00) =27 —cos ' — +cos ! —.
a ail

2021/01/21

goooooooobbbbb

2021/01/21

Gauss-Bonnet 0 O O

00 (00 3-1)

U={(u,v);v>00000000000000000

ds? = sech?vdu® + tanh®>vdo? D000 DODOU DOOO

u?+cosh’v=a*0e¢>10000000000000 C,000

v=0b0becRODDOODDDOOODD L, OOODDD

1. ¢, 0000000000

2.C,0 L, 000 POODOOODOOODOOOOO

3. Q:={(u,v) €U;a? Sul4cosh’v <a3,05u<b} 000
0000000000000000000000 a1, az, b
Ol<a<ay0<b<+/a}-10000000000

2021/01/21 10 / 14

00 00O Gauss-Bonnet 0 O O
oo (I:II:II:II:I Gauss-Bonnet D O OO OO OOOO 10.7|:|)

0000000000000 200000 SO000000000
000000 p:S—R¥OO0O0

/ K dA =2mx(S) =27(2 — 2g)
M

000000000 K,dADODOOOODOO GaussOOOODO
O00Ox(S)0 SO Euler00¢g 0000 SOO0O genus OO0
00000 §looooo

2021/01/21 12/ 14



